



Emerging Science Journal

(ISSN: 2610-9182)



Vol. 6, Special Issue "COVID-19: Emerging Research", 2022

Sustainability of Micro Business Actors during the COVID-19 Pandemic

Yohanes Susanto ¹*[®], Djatmiko Noviantoro ²[®], Sari Sakarina ²[®], Yusro Hakimah ²[®], Irwan Pancasila ²

¹ Faculty of Management, Bina Insan University, Lubuklinggau, Indonesia.

² Faculty of Management, Tridinanti University, Palembang, Indonesia.

Abstract

This study aims to investigate the effect of leadership, business motivation, and compensation during the Covid-19 pandemic on business existence. This study was conducted in a traditional market in Lubuklinggau City, South Sumatra, Indonesia, with a population of 120 respondents from 1200 micro-enterprises. The validity and reliability tests of 36 samples were conducted using SPSS statistics and inferential analysis using the Amos 8.8 Structural Equation Model (SEM). It was found that leadership has a significant effect on business existence by 0.83, compensation has an effect on business existence by 0.17, and business motivation also affects business existence by 0.24. An important finding from this study is that these three variables together affect the existence of businesses during the Covid-19 pandemic. However, the leadership factor of microbusiness actors is more dominant in influencing the business's existence. Implementing awareness-based health protocols will also have a positive impact on tackling the Covid-19 pandemic. In addition, entrepreneurs can also continue to run their businesses and can foster economic stability, especially in traditional markets.

Keywords:

Leadership; Business Motivation; Compensation; Micro Business; Traditional Market.

Article History:

Received:	05	May	2022
Revised:	09	July	2022
Accepted:	21	August	2022
Published:	07	September	2022

1- Introduction

The current Covid-19 pandemic has had an impact on various sectors. Covid-19 has become a buzzword and side effect of entire business sectors [1], starting from the global economic sector to the domestic economy in Indonesia [2, 3]. The micro, small, and medium enterprise (MSMEs) sector was also significantly affected [4, 5]. This is very important to observe considering that the existence of MSMEs is the backbone of the national economy. The obstacles commonly encountered by the MSMEs sector during the Covid-19 pandemic are the availability of raw materials, distribution processes, and product absorption [2].

According to the data from the Ministry of Cooperatives and Small and Medium Enterprises (UKM) of the Republic of Indonesia in 2018, there were 64,194,057 MSMEs, or around 94 percent, of the total number of business units and employed 116,478,632 workers. The Covid-19 pandemic has caused many workers to lose their jobs, including MSME workers [6, 7]. The negative implications for the domestic economy can also be seen from a study by the Ministry of Finance of the Republic of Indonesia, such as the decline in public consumption, people's purchasing power, company performance, threats in the banking sector, and the existence of MSMEs.

According to the Ministry of Cooperatives and SMEs of the Republic of Indonesia, there are around 37,000 MSMEs who reported that the Covid-19 pandemic had a very serious impact on their businesses. The impact

^{*} CONTACT: susantoyohanes60@gmail.com

DOI: http://dx.doi.org/10.28991/esj-2022-SPER-020

^{© 2022} by the authors. Licensee ESJ, Italy. This is an open access article under the terms and conditions of the Creative Commons Attribution (CC-BY) license (https://creativecommons.org/licenses/by/4.0/).

experienced occurred in aspects of sales, financing, raw material needs, and distribution of goods. This impact was caused by many countries' policies that implemented physical distancing to prevent the virus's spread [8]. Each government must formulate policies aimed at preserving its economic interests [9]. These problems are increasingly widespread with the government's policy that stipulates the implementation of large-scale social restrictions (LSSR), which are implemented in several regions in Indonesia.

The implementation of LSRR certainly has a negative impact on the economic conditions of MSMEs. This can be seen from the work of [10–12], which found that the implementation of the LSSR period had a direct impact on the decline in MSMEs' income. This shows the close relationship between the policy of limiting the movement of people and the sustainability of the MSME activities that are carried out. For this reason, this research aims to examine the sustainability of micro business actors during the Covid-19 pandemic in the traditional market of Lubuklinggau City, South Sumatra.

2- Literature Review

Leadership has been defined as a process of controlling subordinates to be able to know what and how to do tasks effectively [13]. The value of leadership is authentic as empirical results in the work of [14]. Furthermore, previous study by Văcar and Miricescu [15] concluded that the leader is an agent of development that involves the group in the decision-making process. Thus, leaders who have the skills and quality in enhancing the performance of employee can increase the success of the company. The first hypothesis (H1) of this work is stated as leadership has an effect on business existence.

In addition, work motivation is the driving force that a could bring a person towards a certain target. It has been found previously that work motivation significantly affects performance [16, 17]. In addition to work motivation, skills and morale are also related to employee performance as found in the studies of De Clercq et. al [18] and Müceldili et. al [19]. Moreover, motivation to excel also has a positive impact on employee, performance [20]. Findings obtained by Güngör et. al [21] explain that intrinsic and extrinsic benefits have significant affect on job performance. In addition to having an impact on employee performance, the role of motivation is also very important for leaders [22]. For this reason, leaders must improve the company's strategy in increasing the motivation of the workforce that can contribute to improving the survival of the company. Thus, the second hypothesis (H2) of this work is declared that motivation to try has a significant influence on business existence.

Subsequently, organizations that pay compensation for services have been shown to improve employee performance because this reward system will provide motivation to the employees so that their performance can be improved. The obtained compensation will also affect satisfaction level and have an impact on increasing creativity performance or increasing work motivation. This is in line with compensation theory where compensation can affect motivation of employee to enhance their motivation of work. The compensation provided can be in the form of salary, commission, bonus and stimulus [23]. The ultimate goal of compensation is to improve organizational productivity and performance of employee which leads to an increase in the company's competitive ability [24]. Likewise, research [16, 25-27] which shows that there is a noticeable impact of compensation on work motivation as well as commitment. organizational. Therefore, the third hypothesis (H3) of this work is declared that compensation significantly affects business existence.

3- Research Methods

This study tested the descriptive and verification hypotheses. Descriptive research was conducted to obtain the characteristics of the variables and the nature of the verification used to test the truth of a hypothesis by collecting data in the field. Test is then carried out to determine whether leadership has an effect on the existence of the business. In addition, test is also carried out to determine whether the motivation to try has an effect on the existence of the business. Furthermore, test is also applied to determine whether compensation also has an effect on business existence.

The next step is to conduct a test to determine whether the combination of leadership, business motivation and compensation factors together has an effect on business existence, especially for micro business actors in the traditional market of Lubuklinggau City, South Sumatra. The method used are explanatory and descriptive surveys methods. This type of research investigation is causality with a time horizon technique where data collection is carried out and information from a portion of the population (respondent sample) is gathered directly at the location empirically with the purpose of knowing the trend of the population being studied. The sample for the instrument trial was set at 36 people with the aim of testing the quality of the questionnaire. After that, 120 micro and small business actors in the traditional market of Lubuklinggau City were determined as samples in this research.

The construct validity in this study was tested by looking at the standard factor load values of each dimension in the overall model (Full Model). Dimensions are declared valid if the standard factor load value is larger than 0.7. The magnitude of the standard factor load value of the dimensions in this study can be seen in the print out results of the LISREL 8.8 calculation. Figure 1 shows the above-detailed research process.



Figure 1. A research process for factors affecting Business Existence

Reliability test is carried out with the assumption that the acceptable level of reliability is when the value of construct reliability is 0.7 and the value of variance extract (VE) is 0.5. Reliability test is obtained through the following formula:

Construct Reliability =
$$\frac{(\sum (Standard Loading)^2}{(\sum Standard Loading)^2 + \varepsilon_j}$$
 (1)
Variance Extract = $\frac{(\sum Standard Loading^2}{(\sum Standard Loading^2 + \sum \varepsilon_i)}$ (2)

Standard loading is found from the standardized loading of each indicator found from the calculation results of LISREL 8.8. $\sum \varepsilon j$ is the measurement error of each indicator and measurements are conducted through $\sum \varepsilon_j = \sum (1 - Standard \ loading^2)$.

Solving the model using multiple regression equations becomes inappropriate when a model uses more than one dependent variable. For this reason, another analytical technique is needed, namely a model in the form of a structure with many dependent variables called SEM. Amos version 8.8 program is used to test all indicators in each variable. While the Goodness of Fit Index (GOF) is used to test the effect together. Confirmatory factor analysis (CFA) was then used to test the reliability as well as validity of the instrument. Evaluation of Critical Ratio (CR) and reliability factor (reliability) was carried out using Cronbach's Alpha coefficient. Table 1 shows the CFA evaluation and shows the coefficient of the load factor for each indicator that has a load factor of 0.05 and the results show that all indicators are considered as valid. The results of the Critical Ratio (CR) test are then shown in Table 2.

No	Goodness Of Fit Index	Cut off Value	Criteria	
1	Chi-Square	<a.df< td=""><td>C1Et</td></a.df<>	C1Et	
1	Probability	> 0.05	Good Fit	
2.	DMCEA	≤ 0.08	Good Fit	
	KMSEA -	0.08 - 0.10	Marginal Fit	
3.	NTET	≥ 0.90	Good Fit	
	NFI -	0.80 - 0.89	Marginal Fit	
4		≥ 0.90	Good Fit	
4.	1 LI ataŭ NNFI –	0.80 - 0.89	Marginal Fit	
5.	CEI	\geq 0.90	Good Fit	
	CFI -	0.80 - 0.89	Marginal Fit	

Table 1. Goodness of Fit Ind	ex
------------------------------	----

Emerging Science Journal / Vol. 6, Special Issue "COVID-19: Emerging Research", 2022

6.	IEI	≥ 0.90	Good Fit
	11-1	0.80 - 0.89	Marginal Fit
7	DMD	\leq 0.05	Good Fit
7.	KWIK	0.05 - 0.10	Marginal Fit
8.	CEI	≥ 0.90	Good Fit
	GFI	0.80 - 0.89	Marginal Fit
9.	ACEI	≥ 0.90	Good Fit
	AULI	0.80 - 0.89	Marginal Fit

Table 2. Reliability Test Results and Average Variance Extracted

Variable	Construct Reliability (CR) (≥0.7)	Average Variance Extracted (AVE) (≥0.5)	Status
Leader (X1)	0.962	0.63	Reliable
Work Motivation (X2)	0.976	0.72	Reliable
Compensation (X3)	0.995	0.68	Reliable
Business Existence (Y)	0.959	0.63	Reliable

4- Results

The overall model feasibility test (Full Model) is carried out by reviewing the results of the Goodness of Fit calculation with the LISREL software. The model fit criteria referred for the test contained in Table 1 of the Goodness of Fit Index. From Table 1 it can be concluded that the Full Model has sufficient goodness of fit. This means that all structural models obtained are models that are quite fit and can be continued in further analysis. Table 2 also shows that all the variables tested are reliable.

4-1-CFA of Exogenous and Endogenous Constructs (Effect of Leadership on Business Existence)

CFA aims to examine the uni-dimensionality of the dimensions forming each latent variable with its indicators (manifest variables). The exogenous construct of the leadership variable on the business existence variable is depicted in Figure 2. Figure 2 indicates that the Model_1 CFA exogenous construct has a loading factor value of more than 0.5, so that those indicators are included in the model and none are excluded from the model. While the results of the calculation of validity and reliability (CR and VE) from the CFA of exogenous variables, namely the leadership variable on the business existence variable, are shown in Table 3.



Figure 2. Exogenous Construct Model of Leadership Variables on Business Existence

Table 3 shows that all indicators of the leadership variable have a standardized loading factor value of more than 0.5, meaning that all indicators are valid. The CR value of the leadership variable is 0.962 while the VE value of the leadership variable is 0.63 (greater than 0.5) which is classified as reliable. Thus, it can be assumed that the indicators of the leadership variable in the CFA are valid and reliable.

]	Label		Estimate	S.E.	C.R.	Р
Y	←	X1	0.419	0.073	5.766	Significant
x1.5	\leftarrow	X1	1.000			
x1.4	←	X1	0.601	0.077	7.858	Significant
x1.3	\leftarrow	X1	0.978	0.018	53.767	Significant
x1.2	\leftarrow	X1	0.986	0.016	60.780	Significant
x1.1	←	X1	0.838	0.029	28.685	Significant
y1.1	\leftarrow	Y	1.000			
y1.2	\leftarrow	Y	0.647	0.064	10.042	Significant
y1.3	\leftarrow	Y	0.620	0.089	6.976	Significant
y1.4	\leftarrow	Y	0.711	0.088	8.103	Significant
y1.5	\leftarrow	Y	0.915	0.028	32.539	Significant
x1.6	\leftarrow	X1	0.905	0.027	33.714	Significant
x1.7	\leftarrow	X1	0.591	0.076	7.770	Significant
x1.8	\leftarrow	X1	0.534	0.076	6.983	Significant
x1.9	\leftarrow	X1	0.764	0.037	20.477	Significant
x1.10	\leftarrow	X1	0.703	0.053	13.203	Significant
y1.6	\leftarrow	Y	0.962	0.036	26.807	Significant
y1.7	\leftarrow	Y	0.581	0.084	6.943	Significant
y1.8	\leftarrow	Y	0.648	0.076	8.505	Significant
y1.9	\leftarrow	Y	0.981	0.025	39.269	Significant
y.10	\leftarrow	Y	0.931	0.027	34.983	Significant

Table 3. Results of Indicator Validity (IV) and CR Tests of Leadership Exogenous Variables

4-2-CFA of Exogenous and Endogenous Constructs (Effect of Business Motivation on Business Existence)

CFA aims to test the unidimensionality of the dimensions forming each latent variable with its indicators. The exogenous construct of the work motivation variable on the business existence variable with the flow chart depicted in Figure 3.



Figure 3. Exogenous Construct Model of Business Motivation Variable on Business Existence

Based on Figure 3 above, it can be seen that the Model_1 CFA exogenous construct shows a loading factor value of more than 0.5. Thus, all indicators are included in the model. Additionally, the results of the calculation of validity and reliability from CFA of the exogenous variable, namely the motivational variable for the business existence variable, are shown in Table 4.

	Label		Estimate	S.E.	C.R.	Р
Y	←	X2	0.242	0.122	1.981	0.048
y1.1	\leftarrow	Y	1.000			
y1.2	\leftarrow	Y	0.646	0.064	10.029	Significant
y1.3	\leftarrow	Y	0.620	0.089	6.971	Significant
y1.4	\leftarrow	Y	0.709	0.088	8.082	Significant
y1.5	\leftarrow	Y	0.915	0.028	32.590	Significant
x2.1	\leftarrow	X2	1.000			
x2.2	\leftarrow	X2	0.967	0.038	25.162	Significant
x2.3	\leftarrow	X2	0.977	0.043	22.914	Significant
x2.4	\leftarrow	X2	0.531	0.083	6.377	Significant
x2.5	\leftarrow	X2	1.017	0.023	44.660	Significant
y1.6	\leftarrow	Y	0.963	0.036	26.817	Significant
y1.7	\leftarrow	Y	0.581	0.084	6.940	Significant
y1.8	\leftarrow	Y	0.647	0.076	8.481	Significant
y1.9	\leftarrow	Y	0.981	0.025	39.211	Significant
y.10	\leftarrow	Y	0.931	0.027	34.998	Significant
x2.6	\leftarrow	X2	1.051	0.028	37.804	Significant
x2.7	\leftarrow	X2	1.014	0.036	28.095	Significant
x2.8	←	X2	0.559	0.063	8.817	Significant
x2.9	←	X2	0.971	0.029	32.992	Significant
x2.10	\leftarrow	X2	1.005	0.027	36.961	Significant

Table 4. Results of IV and CR Tests of Exogenous Variables of Business Motivation

Table 4 shows that all indicators of motivational variables have a standardized loading factor value of more than 0.5. This means that those indicators are valid. The value of CR of the variable of motivation to work is 0.976 while the value of VE of the variable of motivation to work is 0.72 (greater than 0.5) which categorized as reliable. Thus, it can be stated that the indicators of the motivational variable in the CFA are valid and reliable.

4-3-CFA of Exogenous and Endogenous Constructs (Effect of Business Compensation on Business Existence)

CFA was conducted to test the unidimensionality of the dimensions forming each latent variable with its indicators. The exogenous construct of the compensation variable on the business existence variable is shown through the flow chart in Figure 4.

Figure 4 shows that the Model_1 CFA exogenous construct has a loading factor value of more than 0.5. So that those indicators are included in the model. The results of the calculation of validity and reliability from the CFA of exogenous variables, namely the compensation variable for the business existence variable, are shown in Table 5.



Figure 4. Exogenous Construct Model of Compensation Variables on Business Existence

	Label		Estimate	S.E.	C.R.	Р
Y	←	X3	0.133	0.079	1.689	0.091
y1.1	\leftarrow	Y	1.000			
y1.2	\leftarrow	Y	0.646	0.064	10.031	Significant
y1.3	←	Y	0.620	0.089	6.970	Significant
y1.4	\leftarrow	Y	0.709	0.088	8.082	Significant
y1.5	←	Y	0.915	0.028	32.604	Significant
x3.5	\leftarrow	X3	1.000			
x3.4	←	X3	0.895	0.032	28.158	Significant
x3.3	←	X3	0.937	0.027	34.366	Significant
x3.2	\leftarrow	X3	0.959	0.029	33.122	Significant
x3.1	←	X3	0.921	0.030	30.935	Significant
y1.6	\leftarrow	Y	0.963	0.036	26.824	Significant
y1.7	←	Y	0.581	0.084	6.938	Significant
y1.8	\leftarrow	Y	0.647	0.076	8.480	Significant
y1.9	←	Y	0.981	0.025	39.222	Significant
y.10	\leftarrow	Y	0.931	0.027	35.009	Significant
x3.6	←	X3	0.946	0.028	33.914	Significant
x3.7	\leftarrow	X3	0.907	0.032	28.776	Significant
x3.8	\leftarrow	X3	0.862	0.038	22.653	Significant
x3.9	\leftarrow	X3	0.963	0.029	32.675	Significant
x3.10	←	X3	0.927	0.027	34.439	Significant

Table 5. Results of IV and CR Tests of Compensation Exogenous Variables

Table 5 above shows that all indicators of the compensation variable have a standardized loading factor value of more than 0.5 which means that all indicators are valid. The value of CR of the motivation variable is 0.995 while the value of VE of the compensation variable is 0.68 (greater than 0.5) which also means as reliable. Thus, it can be concluded that the indicators of the compensation variable in the CFA are valid and reliable.

4-4-Analysis of SEM Full Model

After analyzing the level of unidimensionality of the dimensions and indicators forming latent variables or exogenous and endogenous constructs that were tested by CFA, further analysis was carried out based on SEM in full model. The analysis is carried out by conducting conformity and statistical tests. By referring to the model fit criteria provided in the goodness of fit index table, a summary of the results of the fit test on Full Model_1 based on calculations using the LISREL program is given in Table 6.

No	Goodness of Fit Index	Test value	Status	
1.	Chi-Square	6230.850	Marginal Fit	
	Probability	0.000		
2.	RMSEA	0.08	Fit	
3.	NFI	0.90	Fit	
4.	TLI or NFI	0.90	Fit	
5.	CFI	0.90	Fit	
6.	IFI	0.86	Marginal Fit	
7.	RMR	0.81	Fit	
8.	GFI	0.95	Fit	
9.	AGFI	0.90	Fit	

Table 6. Full Model_1 Test Results

Based on Table 6, it indicates that the model formed has a fairly good goodness of fit, because it has CFI, TLI, NFI, IFI, RMSEA values that have met the marginal fit value, namely the condition of the suitability of the measurement model under the absolute fit criteria. However, this can still be analyzed further because the value is close to good fit. Only the goodness of fit index (GFI), adjusted goodness of fit index (AGFI) and probability values of Chi-Square were greater than 0.05 which are slightly beyond the recommended ones. The estimation results for the full SEM model analysis are shown in the following Figure 5.



Figure 5. Full Model Diagram

Data analysis using the second order SEM with the analysis of moment structures approach (AMOS) 8.8 series in Full Model in Figure 4 shows that the structural relationship of the constructed model as shown in Table 3 describes the CR with the hypothesis CR \geq 1.96 or (α 0.05). The results of CFA with GOF coefficient of X2 (chi-square) obtained as 6230.850 with a probability of 0.000 and degrees of freedom (df) with a value of 1.73. The GFI value then obtained as 0.95 with AGFI value of 0.90. In addition, the normative fit of index (NFI) of 0.90 and the comparative fit of index (CFI) of 0.90 were also obtained. It was also found that the root mean square error of approximation (RMSEA) was 0.08. From all the scores obtained, the GOF is in the acceptable criteria.

4-5-Hypothesis Test

Simultaneous test was carried out using the GOF index criteria from the Full Model_1 test result as listed in Table 5. Partial test is then carried out using the CR value or T value (t value) of 1.96 with a significance level of 0.05 from the results of the LISREL 8.8 program as shown in Table 7.

Hypothesis	Structural Path	Coefficient Path	CR	Status
1	Leadership \rightarrow Business Existence	0.421	6.005	Accepted
2	Work motivation \rightarrow Business Existence	0.223	2.116	Accepted
3	Compensation \rightarrow Business Existence	0.162	2.384	Accepted

Table 7. Standard Structural Parameters for Estimating Direct Effect Path Analysis Model

5- Discussion and Implications

5-1-The Influence of leadership on Business Existence

Leadership has a positive and significant effect on the business existence with a CR value of $6.005 \ge 1.96$. The findings of this study are in line with the findings by Müceldili et. al [19] where the empirical findings of their work showed that leadership can increase work innovation. Their research also stated that leadership has a significant effect on performance [28-30]. Previous work by Văcar and Miricescu [15] then concluded that leaders know that they are agents of change who involve members in policy making and use a variety of rewards. A successful organization is an organization that has qualified and skilled leaders in improving the performance of its employees. Therefore, the obliging style positively affects organizational performance [31]. On the other hand, leadership will lead to better performance [32].

5-2- The Effect of Work Motivation on Business Existence

Work motivation has an effect on the existence of the business with a CR value of $2.116 \ge 1.96$. The results of this study are in line with previous research of Güngör [21] which found that both extrinsic and internal motivations significantly affect performance [33]. The findings by Muhamad, R., & Djumahir [16] also showed that organizational motivation affects job performance. Motivation certainly greatly affects compensation and performance. It is stated that motivation is a very urgent matter for leaders. Organizational strategies must be improved by the leaders to develop employee motivation as stated in the work of Ciobanu. Otherwise, people lack the motivation to stay focused on the task at hand and their performance tends to decline. The company must develop functional strategies to prevent or eliminate threats and maximize the use of its strengths and capabilities [34-37].

5-3- The Effect of Compensation on Business Existence

There is a significant impact of compensation on job performance, with a t value of $2.14 \ge 1.96$. This finding is in line with the findings of Güngör [21] and Puri and Wardi [38], which stated that external compensation can noticeably affect job performance. Similar to the results found by Njoroge et. al [27] which showed that there is a strong relationship between compensation and work performance which is also supported by other studies [24, 34, 39, 40].

The most effective effort applicable to micro business actors in the traditional market of Lubuklinggau City, South Sumatra, is to increase the leadership awareness of business actors so that they can apply discipline in implementing health protocols in their place of business. Managerial implications in increasing the existence of micro-enterprises must also be in line with local government policies in enforcing strict rules and in conducting continuous supervision, and providing stimulus for financing loans for micro-enterprises in overcoming the Covid-19 pandemic. The results of this study prove that the role of leadership in managing human resources or business actors has a higher coefficient and has the most dominant influence on business existence when compared to business motivation and compensation in improving business existence.

6- Conclusion

Leadership, business motivation and compensation simultaneously have a positive and significant effect on business existence. However, leadership has a very dominant influence and has the highest coefficient value in microenterprises, especially in human resource management. Partially, leadership, business motivation, and compensation each affect the existence of the business. Our findings recommend that micro-enterprises comply with health protocols when operating in traditional markets and be able to control their finances as capital with prudence because the time for the end of the Covid-19 pandemic is hard to predict. Strengthening human resources by instilling knowledge about the era of globalization and technology. Creative innovation to make consumers interested in buying a product during a pandemic, Learning about digital marketing such as making promotional media through social media, improving service to consumers in more detail and ensuring product cleanliness and safety. The local government is also obliged to monitor the development of the people's economy and try to open the faucet for capital loan assistance for micro-enterprises with soft interest. Our next research in this field is to increase the distribution of raw material sources as an additional variable because negative stigma is still closely related to the existence of micro-enterprises in traditional markets.

6-1-Limitation and Future Research

The resulting sample size used in this study is limited and, therefore, maybe inaccurate in the study results. Future research might increase the sample size to meet test conditions, study results, effect sizes, and power limitations. It also includes filling important gaps between national policies and processes that are advantageously geared towards locating and analyzing innovative industries. Furthermore, sustainable value creation by implementing new business towards foreign policy for the needs of business existence.

7- Declarations

7-1-Author Contributions

Conceptualization, Y.S. and J.N.; methodology, J.N.; software, I.P.; validation, S.S., Y.H. and I.P.; formal analysis, J.N.; investigation, S.S.; resources, Y.H.; data curation, S.S.; writing—original draft preparation, I.P.; writing—review and editing, S.S.; visualization, I.P.; supervision, Y.S.; project administration, J.N.; funding acquisition, Y.S. All authors have read and agreed to the published version of the manuscript.

7-2-Data Availability Statement

The data presented in this study are available on request from the corresponding author.

7-3-Funding

The authors received no financial support for the research, authorship, and/or publication of this article.

7-4-Institutional Review Board Statement

Not applicable.

7-5-Informed Consent Statement

Not applicable.

7-6-Conflicts of Interest

The authors declare that there is no conflict of interests regarding the publication of this manuscript. In addition, the ethical issues, including plagiarism, informed consent, misconduct, data fabrication and/or falsification, double publication and/or submission, and redundancies have been completely observed by the authors.

7- References

- Yawised, K., Apasrawirote, D., Chatrangsan, M., & Muneesawang, P. (2020). Factors Affecting SMEs' Intention to Adopt a Mobile Travel Application based on the Unified Theory of Acceptance and Use of Technology (UTAUT-2). Emerging Science Journal, 4, 207–224. doi:10.28991/esj-2021-SP1-014.
- [2] Nasution, D. A. D., Erlina, E., & Muda, I. (2020). Dampak Pandemi COVID-19 terhadap Perekonomian Indonesia. Jurnal Benefita, 5(2), 212. doi:10.22216/jbe.v5i2.5313. (In Indonesian).
- [3] Suryahadi, A., Al Izzati, R., & Suryadarma, D. (2020). The impact of COVID-19 outbreak on poverty: An estimation for Indonesia. SMERU Working Paper, The SMERU Research Institute, Jakarta, Indonesia.

- [4] Utami, B. S. A. (2021). Dampak pandemi covid 19 terhadap sektor UMKM di Indonesia. Economie: Jurnal Ilmu Ekonomi, 3(1), 1-7. doi: 10.30742/economie.v3i1.1511.
- [5] Sugiri, D. (2020). Menyelamatkan Usaha Mikro, Kecil dan Menengah dari Dampak Pandemi Covid-19. Fokus Bisnis : Media Pengkajian Manajemen Dan Akuntansi, 19(1), 76–86. doi:10.32639/fokusbisnis.v19i1.575. (In Indonesian).
- [6] Alfrian, G. R., & Pitaloka, E. (2020). Strategies for Micro, Small and Medium Enterprises (MSMEs) to Survive the Covid-19 Pandemic Conditions in Indonesia. The 6th National Seminar on Applied Innovative Research (SENTRINOV), Social and Humanities, 6(2), 139–146. Available online: https://proceeding.isas.or.id/index.php/sentrinov/article/view/434 (accessed on March 2022).
- [7] Fakhriyyah, D. D., Wulandari, Y., & Karisma, C. (2021). Sosialisasi Digital Marketing Dan Inovasi Produk Pada UKM Gula Merah Guna Mempertahankan Ekonomi Di Masa Pandemi Covid-19. Jurnal Pembelajaran Pemberdayaan Masyarakat (JP2M), 1(4), 311. doi:10.33474/jp2m.v1i4.8691.
- [8] Purwaningsih, M., Purwandari, B., Sunarso, F. P., & Setiadi, F. (2021). Harnessing e-collaboration for rural tourism recovery after covid-19: Dual analysis using swot and porter's diamond model. Emerging Science Journal, 5(4), 559–575. doi:10.28991/esj-2021-01297.
- [9] Wasserbaur, R., Sakao, T., & Milios, L. (2022). Interactions of governmental policies and business models for a circular economy: A systematic literature review. Journal of Cleaner Production, 337, 130329. doi:10.1016/j.jclepro.2021.130329.
- [10] Anugrah, R. J. (2020). Efektifitas Penerapan Strategi Online Marketing Oleh UMKM Dalam Masa Pembatasan Sosial Berskala Besar (PSBB) Corona Viruses Disease 2019 (Covid-19). Jurnal Manajemen Dan Inovasi (MANOVA), 3(2), 55–65. doi:10.15642/manova.v3i2.302.
- [11] Floričić, T. (2020). Sustainable Solutions in the Hospitality Industry and Competitiveness Context of "Green Hotels." Civil Engineering Journal, 6(6), 1104–1113. https://doi.org/10.28991/cej-2020-03091532.
- [12] Herispon, H. (2020). Economic Impact of Large-Scale Social Restrictions on the People of Pekanbaru City in Riau Province. Eko and Business. Riau Economic and Business Review, 11(2), 164-173. (In Indonesian).
- [13] Kehinde, O., & Banjo, H. (2014). A Test of the Impact of Leadership Styles on Employee Performance: A Study of Department of Petroleum Resources International. Journal of Management Sciences, 2(3), 149–160.
- [14] Syafii, L. I., Thoyib, A., Nimran, U., & Djumahir. (2015). The Role of Corporate Culture and Employee Motivation as a Mediating Variable of Leadership Style Related with the Employee Performance (Studies in Perum Perhutani). Procedia -Social and Behavioral Sciences, 211, 1142–1147. doi:10.1016/j.sbspro.2015.11.152.
- [15] Văcar, A., & Miricescu, D. (2013). Leadership A Key Factor to a Succesful Organization Part II. Procedia Economics and Finance, 6(13), 430–435. doi:10.1016/s2212-5671(13)00159-7.
- [16] Muhamad, R., & Djumahir, R. M. (2014). Effect of compensation on motivation, organizational commitment and employee performance (studies of local revenue management at Kendari city), International Journal of Business and Management Invention, 3(4), 3-8.
- [17] Taghipour, A., & Dejban, R. (2013). Job Performance: Mediate Mechanism of Work Motivation. Procedia Social and Behavioral Sciences, 84, 1601–1605. doi:10.1016/j.sbspro.2013.06.796.
- [18] De Clercq, D., Honig, B., & Martin, B. (2013). The roles of learning orientation and passion for work in the formation of entrepreneurial intention. International Small Business Journal, 31(6), 652–676. doi:10.1177/0266242611432360.
- [19] Müceldili, B., Turan, H., & Erdil, O. (2013). The Influence of Authentic Leadership on Creativity and Innovativeness. Procedia - Social and Behavioral Sciences, 99, 673–681. doi:10.1016/j.sbspro.2013.10.538.
- [20] Muchtar, M. (2017). The influence of motivation and work environment on the performance of employees. Sinergi: Jurnal Ilmiah Ilmu Manajemen, 6(2). doi: 10.25139/sng.v6i2.80.
- [21] Güngör, P. (2011). The relationship between reward management system and employee performance with the mediating role of motivation: A quantitative study on global banks. Procedia - Social and Behavioral Sciences, 24, 1510–1520. doi:10.1016/j.sbspro.2011.09.029.
- [22] Cerasoli, C. P., Nicklin, J. M., & Ford, M. T. (2014). Intrinsic motivation and extrinsic incentives jointly predict performance: A 40-year meta-analysis. Psychological Bulletin, 140(4), 980–1008. doi:10.1037/a0035661.
- [23] Hao, M. J., & Yazdanifard, R. (2015). How effective leadership can facilitate change in organizations through improvement and innovation. Global journal of management and business research, 15(9), 1-6.
- [24] Adeoye, A. O., & Elegunde, A. F. (2014). Compensation management and motivation: Cooking utensils for organisational performance. Mediterranean Journal of Social Sciences, 5(27), 88–97. doi:10.5901/mjss.2014.v5n27p88.

- [25] Khan, W., & Mufti, O. (2012). Effect of compensation on motivating employees in public and private banks of peshawar (BOK and UBL). Journal of Basic and Applied Scientific Research, 2(5), 4616-4623.
- [26] Supranowo. (2017). The Influence of Working Environment Conditions, Compensation and Career Development on Employeesâ Working Motivation at an Indonesian Bank. Expert Journal of Business and Management, 5(2), 142–148.
- [27] Njoroge, S. W., Kwasira, J., Wambui Njoroge, S., & Kwasira, J. (2015). Influence of Compensation and Reward on Performance of Employees at Nakuru County Government. IOSR Journal of Business and ManagementVer. I, 17(11), 2319– 7668. doi:10.9790/487X-171118793.
- [28] Makambe, U., & Joy Motlatsi Moeng, G. (2020). The effects of leadership styles on employee performance: a case of a selected commercial bank in Botswana. Annals of Management and Organization Research, 1(1), 39–50. doi:10.35912/amor.v1i1.274.
- [29] Almaududi Ausat, A. M., Suherlan, S., Peirisal, T., & Hirawan, Z. (2022). The Effect of Transformational Leadership on Organizational Commitment and Work Performance. Journal of Leadership in Organizations, 4(1), 61–82,. doi:10.22146/jlo.71846.
- [30] Shafiu, A. M., Manaf, H. A., & Muslim, S. (2019). The impact of leadership on organizational performance. International Journal of Recent Technology and Engineering, 8(3), 7573–7576. doi:10.35940/ijrte.c6158.098319.
- [31] Shahzad, F., Du, J., Khan, I., Shahbaz, M., Murad, M., & Khan, M. A. S. (2020). Untangling the influence of organizational compatibility on green supply chain management efforts to boost organizational performance through information technology capabilities. Journal of Cleaner Production, 266, 122029. doi:10.1016/j.jclepro.2020.122029.
- [32] Hai, T. N., Van, T. T., & Thi, H. N. (2021). Relationship between transformational leadership style and leadership thinking of provincial administration leaders. Emerging Science Journal, 5(5), 714–730. doi:10.28991/esj-2021-01307.
- [33] Ayu, P., Pangastuti, D., Sukirno, ;, & Efendi, R. (2020). The Effect of Work Motivation and Compensation on Employee Performance. International Journal of Multicultural and Multireligious Understanding, 7(3), 292–299. doi:10.18415/ijmmu.v7i3.1534.
- [34] Wekesa, J. N., & Nyaroo, S. (2013). Effect of compensation on performance of public secondary school teachers in Eldoret Municipality Kenya. International Journal of Scientific and Research Publications, 3(6), 1-4.
- [35] Ciobanu, A., Androniceanu, A., & Lazaroiu, G. (2019). An integrated psycho-sociological perspective on public employees' motivation and performance. Frontiers in Psychology, 10, 1–7,. doi:10.3389/fpsyg.2019.00036.
- [36] Annarelli, A., Battistella, C., & Nonino, F. (2020). Competitive advantage implication of different Product Service System business models: Consequences of 'not-replicable' capabilities. Journal of Cleaner Production, 247, 119121. doi:10.1016/j.jclepro.2019.119121.
- [37] Shen, Y., Su, Z.-W., Malik, M. Y., Umar, M., Khan, Z., & Khan, M. (2021). Does green investment, financial development and natural resources rent limit carbon emissions? A provincial panel analysis of China. Science of The Total Environment, 755, 142538. doi:10.1016/j.scitotenv.2020.142538.
- [38] Putri, S. A., & Wardi, Y. (2020). The Impact of Compensation, Organisational Work Culture and Work Discipline on the Performance of Employees at Andalas University Hospital. Proceedings of the 5th Padang International Conference On Economics Education, Economics, Business and Management, Accounting and Entrepreneurship (PICEEBA-5 2020). doi:10.2991/aebmr.k.201126.101.
- [39] Naci, H., & Kesselheim, A. S. (2020). Specialty Drugs A Distinctly American Phenomenon. New England Journal of Medicine, 382(23), 2179–2181. doi:10.1056/nejmp1909513.
- [40] Alfrida, E., Resi, P. T., & Simbolon, S. (2020). Leadership Style, Compensation And Its Effect On Employee Performance (PT. SSBP Case). Primanomics : Jurnal Ekonomi & Bisnis, 18(3), 138. doi:10.31253/pe.v18i3.451.